Standard Parts and Technical Data

Example @ 50H9/d9 Example @ 70H7/g6
. 50.062
Hole Size 0 5,0 . 70.030
Hole Size @ 20.000
49.920 '
Shaft Size @ .
49.858 . 69.990
. Shaft Size @ 69.971
Clearance ﬁ?: ' (? ggg Max~ 0.059
‘ Clearance i 70

1 MAX
MIN

12 MAX
MIN

1.6 MAX
MIN
2 MAX
MIN

2.5 MAX
MIN

30 MAX
= MIN

4 MAX
MIN
5LMAX
i MIN
6  MAX
MIN

8 MAX
L MIN

10 MAX
MIN

127 MAX
CMING
16 - MAX
MIN

20 MAX
MIN

25 MAX
MIN

30 MAX
MIN |1

40 MAX
MIN

50 MAX |
C o MIN
MAX
MIN
MAX
MIN

100 MAX
MIN

1207 MAX
SLMIN
160 MAX
MIN

1.060
1.000

1260

1.200
1.660
1.600
2,060
- 2.000
2.560
2.500

3.060
3000

4.075

4.000 :

5075
5.000
6.075
6.000

8:090

8.000
10.090
10.000
12.110
12.000
16:110
16.000

20:130 ¢

20,000
25.130
25.000

39130
30,000

40.160
40.000

50.160

50.000:

60.190
60.000

80.190
80,000

100.220
100.000

120220

120,000

160.250
160.000

0.940
- 0.880

1.140
1080

1.540
1.480

1.940
11.880

2.440
2.380

2.940

2,880

3.930
3.855

4930
4,855

© 5.930
5.855

7.920

7.830

9.920
9.830

11.905
11,795

15905
15.795

19,890

+19.760

24.890
24.760

29890

29.760)

39.880
39.720

45.870

L 49.710

59.860
59,670
79.850
79.660
99.830
99.610

119:820

119.600

159.790

159.540

0.180
0.060

0.180
0:060

0.180
0.060

0,180
0.060

0.180
0.060

0.180
0.060

0.220
0.070

0.220
0.070

0.220
0.070

0.260

0.080 |

0.260
0.080

0315

0,095

0315
0.095
0370
0.110
0.370
0.110
0.370
0,170
0.440
0.120
0.450
0.130
0.520
0.140
0.530
0.150
0610
0.170
0.620
0.180
0.710
0.210

1.025 ~ 0980 0.070 1.014 0.994 0.030 1.010 0.998 0.018 1.010 1.000 0016
1.000 0.955 0.020 1.000 0.984 0.006 1.000 0.992  0.002 1.000 0.994 0.000
1.2257 1180 L0070 1:214 - 11940030 1.210 1.198.0.018 1.210 1:200°0.016
$:1.200 1.155°.0.020 1,200 1.184::°0,006 1 1.200 1:3920 . 0.002 1200 1.194 0,000
1.625 1.580 0.070 1.614 1.594 0.030 1.610 1.598 0.018 1.610 1.600 0.016
1.600 1.555 0.020 1.600 1.584 0.006 1.600 1.592  0.002 1.600 1.594 0.000

2025 1980 0070 | 2014 1994 0030 | 2010 © 1998 0018 2010 2000" 0016
20007 ©1:9550 0020 2000 7 1984 G006 .| 2000 1:992 0002|2000 : 1994 0000
2525 2480 0070 | 2514 2494 0030 | 2510 2498 0018 2510 2500 0076
2500 2455 0020 | 2500 2484 0006 | 2500 2492 0002| 2500 2494 0.000
3025 2980 0070°| 3014 2994 0030 | 3010 299 0018 3010 © 3000 0016
3,000 02955 0,020 30000 2984 0006 | 3000 2992°-0002] 3000 299 0000
4030 3970 0090 | 4018 3990 0040 | 4012 399 0024 4012 4000 0020
4000 3940 0030 | 4000 3978 0010 | 4000  3.988 0004| 4000 3992 0.000
50304970 0090 | 5018 . 4.990 0040 | 50127 499 0024 5012 5000 0020
5,000 4940 .6:030 -] 5000 4978 0010|5000 | 4988 0.004| 5000 49920000
6030 5970 0090 | 6018 5990 0040 | 6012 599 0024| 6012 6000 0020
6000 5940 0030 | 6000 5978 0010 | 6000  5983. 0004 6000 5992 0.000°
B0360 7,960 0142|8022 7 7987000507 80157 17,9957 0,029 [ 8101501 8,000 0:024
8000 7.924 0040 | 8000 7.972 0013 8000 7986  0.006| © 8.000. 7991 0.000
10036 9960 0.12 | 10022 9987 0050 | 10015 9995 0029] 10015 10000 0.024
10000 9924 0040 | 10000 9972 0013 | 10000 998 0005 10000  9.991 0.000
12,043 17,6500 0436 | 1200270791,984 0061 120187 0111.994 /0,035 | 12,0187 712,000 0,029
12.000 511907 0.050 | 120000 11.966- 0016 120007 11.983" 0:006| 12.000 11.989 0.000
16:043 - 15:950* -0:136-1— 16,027 15.984- -0.06} |--16,018-- -15.994 0.035|—16.018 16,000 - -0.029
16000 15907 0050 | 16000 15966 0016 | 16000 15983 0.006| 16000 15989 0.000
20.052°75-19.9357 01169 | 720.033577/ 79,980 0,074 |1 20,021 119,993 10,041 - 20021 201000: 70034
20000 19.883 0.065 | 20000 19959 0020 | 20.000 19.980 0.007| 20000 19.987 0.000
25052 24935 0.169 | 25033 24980 0074 | 25021 24993 0042 25021 25000 0.034
25000 24.883 0065 | 25000 24959 0020 { 25000 24980 0007] 25000 24987 0.000
30.0577729.935 0,769 | 130:033 11 29,9807 1 0,074 |/30.021 /29,9931 10.047 | :30:021 1 30,000 10034
30000 29.883 0065 | 30000 29959  0.020 | 30000 29.980 0.007| 30000 29.987 0000
40062 39920 0204 | 40039 39975 0089 | 40025 39.991 0050 40025 40000 0.041
40000 39.858 0080 | 40000 39950 0.025 | 40000 39975 0009| 40000 39.984 0.000
50067 49.9207 6004 1500397 7 49:975° 0,089 50,025+ ©749:99t 7 0.050| 7 500257 50.0007 0:041
50,000 - 49.858 0.080°| :50.000 49950 0.025 | 50,000 49.675 ~ 0.009| 150.000. 49.984 0.000
60074 59900 0.248 | 60.046 59970 0.106 | 60.030 59990 0059 60030 60000 0.049
60000  59.826 0.100 | 60000 59940 0030 | 60000 59971 0010] 60000 59.981 0.000
80.074 779,900 - 0:248" 80,046 79.970 /0,106 1| 80:030-77 79,9904 0.059 | 80.0307" :80.000° " 0.049
80000 79.826 0.100 | 80000 79.940 ©0.030 | 80000  79.971 0010| 80000  79.981  0.000
100087 99.880 0.294 | 100054 99964 0.125 | 100035 99.988 0.069| 100035 100.000 0.057
100000 99.793 0.120 | 100.000  99.929 0036 | 100000 99.966 0.012| 100000 99.978 0.000
120087 119.880 0294 | 120054 '119.964 0125 | 120035 119.988  0.069| 120,035 120,000 " 0.057
120,000 °116.793 - 0.120:1'120.000. 119929 ~ 0.036"| 120,000 119,966 '0:012|" 120.000/119.978 - 0.000
160.100 159.855 0.345 | 160.063. 159957 0,146 | 160.040 159986 0.079| 160.040 160.000 0.065
160.000 159.755 0.145 | 160.000 159917 0043 | 160.000 159961 0.014| 160000 159.975 0.000

Table 48 Preferred hole basis fits.

(Dimensions in millimeters.)

A-29




Appendix

Example & 10H7/n6

Hole Size @ 10-015
10.000

'10.019

Shaft Size @

10.010

Max. Clearance 0.005

Max. Interference 0.019

Example @ 35H7/ub
35.025

Hole Size @

35.000

Shaft Size & 35.076
35.060

Min. Interference 0.035
Max. Interference 0.076

IOMAX | 1010 . 1 0o0t0| 1010 1010 o0006] 1010 1012  0004! 1010 1020 —0004| 1010 1.024 —0.008
Min |l 1000 1000 —0006| 1000 1004 —0OI0| 1000 1006 —0012| 1.000 1014 —0020| 1.000 " 1.018 -0.024
CEMA F 15107 12060 0010 12100 121007 00,006 | 12100 12120004 | .1.210° 112200 0004 | 1210 1,224 ~0.008
MIN| 1200 1200 —0006| 1200 1204 —0010| 1200 1206 —0012| 1200 1214 0020} 1.200 1218 -0.024
ToMAX| 1610 1606 0010| 1610 1610 0006| 1610 1612 0004} 1610 1620 —0004| 1610 1624 0008
MIN | 1600 1.600 —0006| 1600 1604 —0010] 1600 1606 —0012} 1.600 1614 —0020| 1600 1618 —0024

2 MAX LS 10 2006 0010 2,010 72,0107 0,006 | 2,010 20127 0004 2,010 2.020:—0.004 |- 2,010 2,024 : ~0.008
MINT 20007 20000 0006|2000 £2:004 0010 | 2,000 2006 —0.012 | 2,000 2,014, -0,020} 2:000. . 2018 ~0.024

25 MAX | 2510 2506 0010] 2510 2510 0006| 2510 2512 0004 | 2510 © 2520 —0.004| 2510  2.524 —0.008
MIN| 2500 2500 —0006| 2500 2504 —0010] 2500 2506 —0012{ 2500 2514 -0020| 2500 2518 -0.024
FMAX 130100 73,0067 F0.010°0 £ 3.010 030100 -70.006 | £ 3.0107 - 3:012- +0.004 |- 3.010 ;. 3.020 0004 | - 3:010" 3,024 . ~0.008
MIN | 73.0000 - 73,0000 200006 | 3,000 3.004.-—0010| 3:000 73006  —0012 | 3,000 - 3014..-0.020] 3000 3018 .-0024

4 Max| 4012 4009 0011] 4012 4016 0004 4012 4020 0000| 4012 4027 —0007| 4012 4031 0011
MIN| 4000 4001 —0009| 4000 4008 —0016] 4000 4012 —0020] 4000 4019 —0027| 4000 4023 —0031

5 MAX | 5012 05009 0011| 5012 5016 0004| 5012 5020 0000 | 5012 5027 =0007] 5012 5031 -0011
MIN TS 5000075001 —0.009 |- 5.0000 500820016 5000 5012 -=0.020 | ‘5.000. ~ 5.019: —0027 | 5000 5.023. ~003]

6 MAX| 6012 6009 0011 60127 6016 0004| 6012 6020 0000 6012 6027 —0007| 6012 6031 —00U
MIN | 6000 6001 —0009] 6000 6008 —0016| 6000 6012 -0020| 6000 6019 ~0027| 6000 6023 —0.031

8. MAX L8015 80107 0014 | 80157 . 8019 © 0005 | 8015 + 8024 . 0000 8015 . 8032  —0008| 8015 8037 -0013
MIN L 8000 8001 —0010 | 8000 - 8010 —0019| 8000, 8015 —0024 | 8000 . 8023 —0032} 8000 - 8028 ~0.037

10 MAX | 10015 10010 0014 10015 10019 = 0005 | 10015 10024 0000 | 10015 10032 -0.008| 10015 10037 -~0.013
MIN | 10000 10001 —0010| 10000 10010 —0019| 10000 10015 —0.024 | 10000 10023 -0032| 10000 10028 -0.037

120 MAX | 12018 12012 0017 | 12018 12.023. 0006 | 12.018 12029 - 0000 | 12018 12.039 0010 | 12,018 12044 0015
MIN | 12000 12001 ~0012 | 12000 12012 —0023 | 12000 12018 —0029 | 12.000 12028 —0039| 12000 12033 004

16 MAX |-16:018 - 16012 0:047 |- 16.018. 16,023 -.0.006...16.018 .16.029. .0.000.} 16.018...16039 .=0.010] 16,018 16044 0015
MIN | 16000 16001 —0012| 16000 16012 —0023| 16000 16018 —0.029 | 16000 16.028 —0.039| 16000 16033 -0.044

20 MAX | 20021 20015 0019 20021 20028 0006 | 20021 20035 —0.001 | 20021 . 20.048. —0014} 20021 20054 -0.020.
MINE 200007 20002 —0.015 [20.000. 20.015. —0.028.| " 20:000 '20.022.° =0.035 | 20,000, 20,035 . =0.048{-'20.000: 20,041 —0.054

95 MAX | 35021 25015 0019 25021 25028 0006 | 25021 25.035 —0.001 | 25021 25048 —0014] 25021 25061 -0027
MIN | 25000 25002 —0.015| 25.000 25015 —0028] 25.000 25.022 —0.035| 25000 25.035 —0.048| 25000 25048 -0.061

30 “MAX 30021 730015 10019 | 130,021 30:028 . 0.006 | 30,021+ 30:035 —0.001 | 30.021 " 30.048: —0.014 } 30,021 > 30,061 --0.027
; MIN 30000 730,002 20,015 | 30.000: ~ 30.015 . —0.028 | *30.000 130,022 =035/ 30.000 . 30,035 '=0.048 | -30.000" ' 30:048. ~0.06]
40 MAX | 40025 40018 0.023 | 40025 40033 0008 | 40.025 40.042 —0001 | 40.025 40059 —0018| 40025 40076 —0.035
MIN | 40.000 40002 —0.018| 40000 40.017 —0333| 40000 40026 —0.042 | 40000 40.043 -0.059 | 40.000 40.060 —0076

50 MAX | 50.025° 50018 - -0.023 |150.025 50.033 - 0.008 |1 50025 50.042" —0.001 | 50.025:50.059 * :~0.018 | 50025 50086 ~0.045
MIN'| 50.000 50,002 —0.018 | 50.000 * 50017 =0.033 | 50.000: 50.026 . -0.042 | 50.000  50.043. —0059 |:'50.000 - 50.070. —0.086

60 MAX | 60030 60021 0028 60030 60039 0.010| 60030 60.051 —0.002 | 60.030 €0.072 -0.023| 60030 60.06 —0.057
MIN | 60000 60002 —0.021 | 60000 60020 —0.039| 60000 60032 —0051 | 60.000 60053 —0072| 60000 60.087 -0.106

80 MAX | 80030 80.021  0.028 | 80.030 80:039 - 0.010 | 80030 = 80051 —0002 | 80030 ~ 80078 —0.029 | 80.030 80.121 0072
MIN | ‘80,000 . 80,002 . —0.021 | 80.000 - 80.020 —0.039.| *80.000 - 80.032  —0.051 | 80.000- - 80.059 - —0.078 | 80.000 - 80.102 = —0.121
100 MAX 1100035 100025 0032 |100.035 100.045  0.012 |100.035 100.059 —0.002 |100.035 100093 -0.036 ;100.035 100.146 —0.089
MIN [100.000 100003 —0.025 | 100.000 100023 -0.045 |100.000 100.037 —0.059 {100.000 100.071 ~0.093 |100.000 100.i24 —-0.146

1207 "MAX 1120035 120025 © 0032 [120.035 120.045 -~ 0.012 | 120,035 120,059 —0.002 |120.035 120.101 - ~0.044 | 120.035 120.166 —0.109
MIN | 120,000 120,003 —0.025 | 120,000 120,023  ~0.045 | 120,000 120,037 —0.059 120000 120.079 '=-0.101-|120.000 120.144 | ~0.166

160 MAX |160.040 160028  0.037 [160.045 160052 0013 [160.040 160068 —0.003 |160.040 160.125 —0.060 |160.040 160.215 —0.150
MIN | 160000 160.003 —0.028 |160.000 160.027 —0052 {160.000 160.043 —0.068 [160.000 160.000 —0.125 |160.000 160.190 —0215

Table 48 Preferred hole basis fits

A-30

. (Dimensions in millimeters.) (continued)




Standard Parts and Technical Data

Example & 100C11/h11 Example @ 1TH7/h6
Hole Size @ 188?38 Hole Size @ : :8;3
shatt Size 3 | gg.;)gg Shaft Size & 12}:828
Clearance m'la: 816;8 Clearance m?: %%20%

1 MAX 1.120 1.000 0.180 1.045 1.000 0.070 1.020 1.000  0.030 1.012 1.000 0.018 1.010 1.000 0.016

. MIN 1.060 0.940  0.600 1.020 0.975 0.020 1.006 0.990 0.006 1.002 0.994 0.002 1.000 0.994 ° 0.000
1.2 MAX 1.320 1.200+.0.180 1.245 1.2007:0.070 1.220 1.200-:0.030 1.212 1.200::0.018 21210 1.200::0.016
MIN 1.260 1140 0.060 1.220° 7221175 0,20 1.206 1.190:.70.006 1.202 1.1947:0.002 1.200 1.194::.0.000

1.6 MAX 1.720 1.600 0.180 1.645 1.600 0.070 1.620 1.600 0.030 1.612 1600 0.018 1.610 1.600 0.016
MIN 1.660 1.540 0.060 1.620 1.575  0.020 1.606 1.590  0.006 1.602 1.594  0.002 1.600 1.594  0.000

2. MAX 2120 2.000.:.0.180 2.045 2.00.:0.070 2.020 2.0000.030 2.012 2.0007:0.018 2.010 2.000:70.016
MIN 2.060: " "1.940" - 0:60 2.020 1.975:-:0.020 2.006 1.990: 0.006 2.002 1.994: 2 0.002:1-: :2.000 1.994.2 0.000

2.5 MAX 2.620 2,500 0.180 2.545 2.500 0.070 2.520 2.500 0.030 2.512 2.500 0.018 2.510 2.500 0.016
MIN 2.560 2.440 0.060 2.520 2.475 0.20 2.506 2.490 .006 2.502 2,494 0.002 2.500 2.494  0.000

30 MAX 1730120 3.000:0.180 3.045 3.000:-:0:.070 3.020 3.000.:7-0.030 3.012 3.0000.018 3.010 3.000°- 0,016
MIN 3.060 2.940 10.060 3.020 2.975°:-0.020 3.006 2.990°0.006 | -+3:002°7.:72,994°7.0.002 |~ 3.000 2.994.7:0.000

4 MAX 4.145 4.000 0.220 4.060 4.000  0.090 4.028 4.000 0.040 4.016 4.000 0.024 4.012 4.000 0.020
MIN 4.070 3.925 0.070 4.030 3.970 0.030 4.010 3.988 - 0.010 4.004 3.992  0.004 4.000 3.992  0.000

5 MAX 5.145 5.000: 0.220 5.060 5.000-0.090 5,028 5.0007 0.040 5.016 5.000::0.024 |-+ 5,012 5.000.0.020
MIN 5.070 4.925 0.070 5.030 4.970'7-0.030 5.010 4988 0.010 5.004 4.992°:0.004 5.000 4.992-:0.000

6  MAX 6.145 6.000  0.220 6.060 6.000 0.090 6.028 6.000 0.040 6.016 6.000 0.024 6.012 6.000 0.020
' MIN 6.070 5.925 0.070 6.030 5.970 0.030 6.010 5.988 0.010 6.004 5.992  0.004 6.000 5.992  0.000
8 . "MAX 8.170 8.000::0.260 8076 : 8000 °0.112 8.035 8.000 '0.050 8.020 8.000-°0.029 8.015 8.000" .0.024
" MIN 8.080 7.910.:.0.080 8.040 7.96470.040 8.013 7.985 - 0.013:}-8.005 7.991::.,0.005 8.000 7,991 7.0.000
10 MAX | 10.170° 10.000 0.260 { 10.076 10.000 0.112 | 10.035 10.000 0.050 | 10.020 - 10.000 0.029! 10.015 10.000 0.024
MIN 10.080 9.910 0.080 | 10.040 9.964 0.040 | 10.013 9.985 0.013 | 10.005 9.991 0.005| 10.000 9.991  0.000

120 MAX 112,205 . 12.000: 7~ 0.315 12.093° 12,000+ 0.136.1. :12.043 772,000 0.061 .| . 12.024° 12,000+ .0,035| " 12.018 " 12.000:7 0.029
MIN-112.095 % 11,890 0.95 12.050. - 11,957 --0.050- “12.016 /. 11.982 = 0.016.| *12.006 711,989 70.006 | 12.000"-:11.989 0.000

16.. .MAX 16.205....16.000 . -0.315 16.093 - 16.000-0:136-}-16.043~ 16:000~0.061| ~16.024~ 16.000"0:035 [ 16:018 ~ “16.000 ~ 0.029
MIN 16.095 ~ 15.890 0.095 16.050  15.957 0.050 | 16.016 15982 0.016 | 16.006 15.989 0.006| 16.000 15.989 0.000

200 -MAX. |- 20.240°: 20.000..0:370 5| 20:117 - 20:000+: 0,169 |+ 20.053 - :20.000. . 0.074.}'20.028.°20.000.".0.041 20.021:°:7720.000. -0.034
MIN: | 201107 19,870 0,110 -20.065 19.948" 0:065:-20:020". -~ 19.979. - 0.020-} 20.007.:19,987:0.007 | -'20.000":-19.987" 0:000

25 MAX | 25240 25.000 0370 | 25.117 25000 0.169 | 25.053  25.000 0.074 | 25.028 25.000 0.041 25.021 25.000 0.034
MIN- | 25.110 24.870 0.170 | 25.065 24.948 0.065 | 25.020 24.979 0.020 | 25.007 24.987 0.007| 25.000 24.987 0.000

30 'MAX::12:30.240-:-730.000 - 0.370- .- 30,717 ° 30,000 0:169:| - 30.053:* " 30.000." 0.074.|: 30,028 :-°30:000 " 0.041 | - 30.021 30.000.7:0.034
MIN 130,110 29.870.-0.110°| 30.065 " 29.948 - -0:065:| /30,020 "29.979.0.020 | '30.007 29,987 +°0.007.|1..130.000-29.987. > .0.000

40 MAX | 40.280 40.000 0.440 | 40.142  40.000 0.204 | 40.064 40.000 0.089 | 40.034 40.000 0.050| 40.025 40.000 0.041
MIN | 40.120  39.840 0.120 | 50.080 39.938 0.080 | 40.025 39.975 0.025] 40.009 39.984 0.009|  40.000 39.984 0.000

507 MAX 50,290 "50.000°. 0:450- | :50:142 50.000 +0.204°["50.064 "/ 50,000 " 0.089 |- 50.034" ='50.000 0.050] “50.025 50.000" 0.041
MIN-"| /50.130°:°49.840 - 0.130 | '50.080 49,938 0.080 | 50.025 " :49.975 7 0.025 | :50.009 " 49984 0.009 . 50.0007::49.984-"- 0.000

80 MAX | 60.330  60.000 0.520 | 60.174  60.000 0.248 | 60.076 60.000 0.106 | 60.040 60.000 0.059| 60.030 60.000 0.049
MIN 60.140  59.810 0.140 | 60.100 59.926 0.100 | 60.030 59.970 0.030 | 60.010 = 59.981 0.010| 60.000 59.981 0.000

80 MAX |- 80.340- " 80.000 - 0:530| '80.174":'80.00070.248 | :80.076 - 80,000 < 0.106 |- 80.040 -'80.000: 0.059 | 80.030 80.000- 0,049
MIN" 80.150 . 79,810 ' 0.150-| "80.100-:-.79.926." /0:100 - 80.030.. 79.970 --0.030'|" 80.010-~79.981 =~ 0.010} - 80.000 79,981::0.000

100 MAX 1100390 100.000 0.610 | 100.207 100.000 0.294 | 100.090 100.000 0.125 |100.047 100.000 0.069| 100.035 100.000 0.057
MIN 1100.170  99.780 0.170 | 100.120  99.913 0.120 | 100.036  99.965 0.036 | 100.012  99.978 0.012| 100.000 99.978 0.000

120 MAX 1120.400 . 120.000 - 0.620 | 120.207 °120.000 :0.294 [ 120.090  120.000 * 0.125 | 120.047--120.000 - 0.060 ] 120.035 120.000. 0.057.
MIN-1 120,180 . 119.7807-. 0.180" [ 120.120 ~ 119.913 * 0.120 | 120.036" 119.965 0.036 [120.012 119.978 ° 0.012 120.000.::119:978: - :0.000

160 MAX |160.460 160.000 0.710 | 160.245 160.000 0.345 | 160,106 160.000 0.146 | 160.054 160.000 0.079| 160.040 160.000 0.065
MIN 1160.210 159.750 0.210 | 160.145 159.900 0.145 | 160.043 159.960 0.043 | 160.014 159.975 0.014] 160.000 159.975 0.000

Table 49 Preferred shaft basis fits. (Dimensions in millimeters.)

A-31




Appendix

Example @ 16N7/h6 Example @ 45U7/hé
sisis 0 £ s 58
Max. Clearance 0.006 Min. Interference 0.045
Max. Interference 0.023 Max. Interference 0.086

1 MAX| 1000 1000 0006| 099% 1.000 0002| 0994 1000 0000{ 098  1.000 —0008 | 0.982 | .
MIN| 099 0994 —0010| 0986 0994 —0014| 0984 0994 —0016| 0976° 09% -0024| 0972 09% —0028
T2 MAX 1020005012007 0,006 1 11960120000 0.002° | 1194 71200, 00,0000 1186712000 20,008 | 11827 12000 20,012
CUMIN L TA900 1194520010 | 11086 01194 0014 | 11184 11945 —0016 |- 1176 1194 —0024 | 10720 51194 0028
16 MAX | 1600 1600 0006| 159 1600 0002| 1594 1600 0000| 158 1600 —0008| 1.582 1.600 —0.012
Min| 1590 1594 —0010| 1586  1.594 —0014| 1584 1594 —0016] 1.576 1594 -—0024| 1.572 1594 —0028
2 UMAX 2000 2,000 0,006 |7 1.996, - 20007 7. 0.002° ] 701,994 20000 0.000 | 1,986 71 2.000, 0,008 | 1.9821 21000 1 =0,012
COMING 19900 1994 L0010 1,986 1.994 10014 |7 1.984 1,994 0,016 | 1976 :1.994:—0,024. 1 71.972 -+ 1.994.-0,028
25 MAX | 2500 2500 0006 249 2500 0.002 | 2494 2500 - 0.000 | 248 2,500 —0008.| 2482 2500 —0.012
MIN| 2490 2494 _0010| 2486 2494 0014 | 2484 2494 —0016| 2476 2494 —0.024 | 2472 2494 0028
35 MAX 07310000 3,000 70006 |7 29967 3.000° -0:002 |1 2994 3,000 0.000 | £ 2,986 3.000 10,008 - 2,982 3.000 /0012
MIN' 2090 2994 -0.010' 2986 2994 —0014| 2984 2994 00161 2976 . 2994 _0024 | 2972 2994 0028
4 MAX| 4003 4000 0011| 399 4000 0004| 3.992 4000 0.000| 3.985 4000 —0.007 | 3.981 4000 —0.01
MIN| 3991 3992 _0009| 3.984 3992 —0016| 3980 3.992 —0.020] 3.973 3992 —0.027 | 3969 3.992 —0031
50 MAX 6003 5.000° 5001171 74:996 7 5,000 0004 | 4.9927 75,000 0,000 | 74,985 5000 ~—0.007 | 4981 +5.000 =0.011
OMINGL 4991 0419920 0009 49841 4.992 ~0.016 | 4980 4.992° ~0.0207 4973 174992 =0.027. | 4969 . 4,992 0031
6 MAX| 6003 6000 0011] 599% 6000 0004| 5992 6000 0000| 598 6000 —0.007| 5981 6000 —0.011
MIN| 5991 5992 —0009{ 5984 5992 -~-0016| 5980 5992 —0020| 5973 5992 —0027] 5969 5992 —0.031
8 MAX 780057 8.000 7 0,014 7,996 8000 - 0.005 1 7:99T: 8000 70,0007 7,983, 8,000 =0.008,|. 7978 8,000 =0.013
MIN T 7.9900 0.7.9917 20010 | - 7.981 % 7:991 L0019 7,976 7991 —0,024 1. 7.968~ 7.99T  —0.032 | 7,963 7.991 " =0.037
10 MAX| 10005 10000 0014| 999 10000 0.005| 9991 10000 0000| 9983 10000 —0008| 9978 10000 —0.013
C OMIN| 9990 9991 —0010| 998 9991 —0.019| 9976 9.991 —0.024| 9968 9991 -~0.032| 9963 999t —0037
127 MAX 12,0065 12:000° 7 /0,017 11,995 4 12.000 0.006 | 11,989 129000 0,000 1 11.979- > 12.000+: ==0.010 1 111,974~ 12.000  =0.015
MIN] 11988, 11,989 20012 [ 11877, 11989, —0023 ] 11.971 111989 0,629 | 11.961° " 11.989 - ~0.039 |. 11.950" * 11,989 - -0.044
16, MAX| 16.006. 16000 . 00i7] 15.995 16.000. . 0.006| 15989 16000 . 0.000| 15979 16000 —0010| 15974 16000 —0015
MIN| 15988 15989 —0012| 15.977 15980 —0.023] 15971 15989 -0.029| 15961 159890 -0.039| 15956 15989 -—0.044
200 MAX 201006 20.000-70.019'|.719.993 - 20,000: /0,006 119.986 20,000 0001 | 19,973 20.000 . =0.014 | 19.967-20.000 - ~0.020
O MIN| 19.985 19987 —0.015| 19.972  19.987 —0.028 | 19.965. 19.987. —0.035 | 19.952 19.987 0048 | 19.946 19.987 ~0.054
25 MAX| 25.006 25000 0019 24993 25000 0006 | 24986 25000 —0001| 24973 25000 —0.014| 24.960 25000 -0.027
MIN | 24985 24987 —0015] 24972 24987 —0.028| 24965 14987 —0035| 24952 24.987 —0.048| 24939 24.987 -0.061 o
30 -MAX| 30006 30,000 " 0,019 | 29,993 301000 - 0.006.| /29,986 30.:000° =0.001 |"129.973. 30:000 0,014 | 29.960" 30.000"/=0.027 ot
MIN.[1129.985 5 °29.987 —0.015 | "29.972 29,967 ~0.028 | 29:965." 29.987  ~0.035:| 29.952 :29.987 0048 29.939 29.987 —0.061 :
40 MAX| 40007 40000 0023 39992 40000 0.008| 39.983 40.000 —0001 | 39.966 40.000 —0.018| 39949 40.000 .—0.035
MIN| 39982 39984 —0018| 39967 39984 —0033| 39958 39.984 —0.042| 39.941 39984 —0.059| 39.924 39984 —0.076
50 MAX | 500077750000 701023 7 49.992 50,0007 6,008 49.9837 50,0000 —0.001 | * 49.966 7 1 50,000 ©—0,018.149:939 50000+ £0.045
MINT 49:982 49,984 70018 | '49.967 7 49:984': --0.033' 149.958" " 49,984 0042 | 49.941" 49,984 -0,059 |::49.914 . 49.984 ' 0.086
60 MAX| 60009 60000 0028 59.991 60000 0.010| 59979 60000 —0.002| 59958 60.000 —0.023| 59.924 60.000 —0Q.057
MIN! 59979 59981 —0.021| 59967 59.981 —0.039| 59.949 59.981 -—0.051| 59.928 59981 -—0.072| 59.894 59981 -—0.106
80 MAX| 80.009: 80,000 . 0.028 79,997 80.000 " 0:010 | 79.979 " 80.000-  ~0.,002 | 79.952.= 80,000 —0:029.| 79.909 " 80.000.: ~0.072
MIN| 79979 ©79.981 0021 79961 79,981 —0039.} 79.949.0 79.981 '~0051 | 79922 791981 0078 | 79879 79981 0,121
100 MAX | 100010 100000  0.032| 99990 100000 0.012| 99.976 100000 —0.002! 99.942 100000 —0.036| 99.889 100000 —0.089
- MIN| 99975 99978 —0.025| 99.955 . 99.978 —0045| 99.941 99978 —_0059| 99.907 99.978 —0.093| 99.854 99978 —0.146
120 . MAX | 120,010 120,000 0.032 |'119.990 120,000 0:012'1119.976 120,000 —0.002 | 119,934 -:120.000. * =0.044 |119.869 - 120.000: - =-0.109
MIN'| 119,975 119,978 —0,025 | 119.955 119.978 - 0.045 [ 119.941 . 119,978~ —0,059 | 119,899  119.978 - —0.101 |-119.834°:119.978 - '_0.166
160 MAX | 160012 160.000  0.037]159.988 160.000 0.013 |159.972 160000 ~0.003 |159.915 160.000  —0.060 | 159.825 160.000 —0.150
MIN1 159972 159975 —0.028] 159.948 159.975 —0.052 |159.932 159.975 —0.068 |159.875 159.975 —0.125|159.785 159975 —0.215

Table 49 Preferred shaft basis fits. (Dimensions in millimeters.) (continued)

A-32




Appendix

375
375
438
438
.500
.500
.500
.562
.562
625
625
625
.688
688
.688
750
750
.750
750
8125
8125
8125
8125
875
875
875
875
938
938
938
1.000
1.000
1.000
1.000
1.000

10
10
11
11
12
12
12
14
14
16
16
16
18
18
18
20
20
20
20
21
21
21
21
22
22
22
22
24
24
24
25
25
25
25
25

753

840
1.003
1.128
1.003
1.128
1.254
1.003
1.128
1.250
1.128
1.250
1.379
1.128
1.254
1.379
1.254
1.379
1.503
1.756
1.254
1.379
1.503
1.756
1.379
1.503
1.628
1.756
1.503
1.628
1.756
1.503
1.756
1.878
2.004

19
21
26
28
26
28
32
26
28
32
28
32
35
28
32
35
32
35
38
44
32
35
38
44
35
38
42

38
42

38
44
48
50

25
31
31
31
31
31
.38
31
31
.38
31
38
.38
31
38
38
38

.38
A4
.38
.38
38
A4
38
.38

38
.38

38

PRE

—t
0O PO WO

—

—_ -
«w OO

e U g i Gy
NNMNRNONOONMNNOONOOONOOOOO

1.062

1.125

1.188

1.25

1.312

1.375

1.438

1.500

1.562

1.625

1.75

26
26
26
28
28
28
30
30
30
32
32
32
34
34
34
35
35
35
36
36
36
38
38
38
40
40
40
42
42
42
42
42

44
44

1.503
1.628
1.756
1.628
1.756
1.987
1.832
1.987
2.254
1.756
1.878
2.066
2.060
2.254
2378
2.066
2.254
2.441
2.254
2.506
2.627
2.254
2410
2.720
2441
2.690
2.879
2441
2.879
2.627
2.879
3.066
2.254
2.441
2.506

.38

44
44
A4
44

44
50
50
A4

50
44
.50
.50

.50
.50
50
.50
.50
38
50
.50
.50
.50
.50
.38
.38
.50
.50
.50
.50
.50
50

10
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
10
12
12
12
12
12
10
10
12
12
12
12
12
12

Table 83 Oil seals.

375
.500
625
750
875
1.000

10
12
16
20
22
24

75
1.00
1.10
1.20
1.50
1.60

20
25
28
30
40
40

40

50
.56
.56
60

10
10
12
14
14
16

250
250
3125
3125
3125
3125

Mo
M6
M8
M8
M8
M8

Table 64 Setscrew collars.

A-42

DOOAMAANMNY

<+ W DTH=

//




A

(P "0D AYS) "SSuLeaq [feq PeIuod emduy 19 sjgel

S'le ¥0C S€ 8Le°L 05l 906'S 09 9e'e aTivs
S8 6l 23 66T L OoFL us's sS 91e qiivs
€L 991 LE teet o€l 8LL's 0s 696'L a0lyz
59 9l 6C WL ozl yiLy i 4 L 860¥L =z
s [4} x4 €901 OLL 5284 (U4 SL51 a80vL m
99 ol ¢ 860 ool LE6'C 13 8LEL 4407
§9¢ €8 £ 9060 06 13483 ot gLl a90vL
S0t 89 1z £180 08 osLe S¢ ¥86'0 a450vL
569 gsk 53 Lce L 0g!: LIS 0] 79T dcies
19 vEL 6C A48 4% yeoly 1% S9LT glies
Z8 9Ll Y24 €907 OLL LEEy 0s 6961 a01€L
44 ot Y4 860 00t LE6E St TLLA g460¢L M
SYE. 9L €7 9060 06 EpSE (6174 LA, a80es m.
74 €9 1z £280 08 (U8 SE L7A S 4408 3
424 V'S 61 8vL0 oL 5€8°C ¢ 3¢50 H90EL
6l 48 4 YA 0490 (4} Wwy'e ST 186:0 4506
PEL L€ sk 1690 ey YA, ra 274 L8LG avoes
a4 6 w 9980 oLl Leey 09 9¢€°T acies
9¢ 8 k4 4280 0oL LE6'E s9 9be ailes
5§82 9 74 £8L°0 06 [32°RY 08 696'L a0Les
§4C 9 61 8740 58 LYE'E Fid [424} 46074 cnn.
Sve s 8L 600 08 os1e 4 SL5°L 48024 =
80z 24 JAS 0490 (44 S€8'C §¢ 8471 940TL
gst 143 9t 0£9°0 9 T o€ £/ 49074
Ll ST St 1650 5 0T sz ¥86°0 45074

Ny sdiy

Buney peoy M a P
Jiseg yipm Japaueiq si04

2pIINO

‘ug daguinn
Buneag

S

5919

sgurieaq (fewanof) urerd paepuels 9g sjqel

§

e . °
° ° .
° °
. .

° . ° ® 9L STy
00 SZ 108 09 [ 00C 05| 21 0p | 0SE Se | STl 0F L 00°L ST EEE wi

SIARUIIN pue salpu—18u] ; v v

S o] e o
SR B A
N DA IS N N B 00 I
” ” “ “ “ ww mwmu_ 9l 579
A N - ™

°* ° ° . 0c 0S84 oL s

IpiIsIno apisuj

(T "0 sauing aovjiny) -ssurads uoisio], ©g ojgeL

6L ST LT 09¢ 4 06 80¢ oot 00g" 09¢ 14 seg
99 T4 o} 04T € '8 65T 0oL 005 (1744 € 6C¢
9y 14 LTl . 08l 4 8 . [4:18 0oL 00s’ . 081 4 ore .
98 ST paral 800 0s2 € 9 120 e 0oL 00s sts (%24 € SYT 820
09 14 2zl 081 4 €9 8€T ool 0% o8t 4 (74
e 14 el 06 L 29 e 0oL 005 06 i 9T
§9 ST 2zl 09¢€ 4 69 £5¢ 0oL 0% 09¢ 4 LT
'S 14 L7l 04t € 9 € 0oL 00¢" (744 € 15¢
8¢ L4 Lz g 081 4 99 . s ool 009 . (62219 4 68T s
[4 6l §6 S€00 04T € 8y 650 8T sL SLE 80¢ 0T € 817 £eo
os 6l 56 08t 4 334 %L S& SLE 08l 4 16t
8T 6l <6 06 L s 601 S& SLE 06 l T
9 st LTl 09¢ 14 <9 0sT [ 008 09¢ 14 414
(44 ST Lz 0Lt € 89 91 0oL 00s” 0Lz € 89T
ja3 T4 LTl . 08l 4 9 . oglL 00"t 00s” . o8t 4 wT .
9 6l 96 1e00 042 € R4 150 svT SL SLe a1 04T € Sz 0z0
[ a4 6l $6 08l T 9t oL S& SLE 08l 4 6Ll
¥’ 6l §6 06 L 6t S60° SL GLE 06 L L6l
[ 4 6l 6 09¢ 4 09 oL SL SLE 09¢ 14 S€T
L'e 6l $6 4724 £ 99 j24N S S48 0Lt € 65T
T 6l 56 . 08l 4 €9 . 60" S S48 . 08t < 6vT g
284 €l 9 €10 042 € L'y o w6l oS’ osT A 04T € oL 2o
(42 €l 9 08L 4 144 Ll 0s” 0sT 08l 4 74y
L' €l 9 06 L 'y 180° 05" 0sT 06 ! o
(42 61 $'6 09¢ 4 [4 9CL’ S SLe 09¢ 14 YT
9T 61 §6 (V744 € [ oL S& SLe 0Lz € 10T
0C 6l $'6 . o8l < 234 . 20 s& SLe . 08t 4 oL .
oty €l 9 8000 0T € [43 S0 851 04 05T 040 0Lz € 1243 vi0
LT €l 9 [¢::18 [4 143 oL o 0sT (€3] [4 el
L €l 9 06 L 43 290 [ 0sT 06 i ¥

a w @ Hed
da - opls M
anbioy P anp

w N 1
. smipe 99— 9pis. an
ajeds . i anhioy : spu3 b ”

d
snipey

Joedg

(SHILINITHN) DRILIN (STHOND AHVWOISHD '§'n

NO11037430 009¢
L E £'9td 2914 1 Old

NOILD3T430 0042 NQOELD3T1430 o081 NOLLD3330 006

J—3

3

[ S -

REETLLA -
T -

ANVH-Ld3T ANNOM q

SHNIHES MOHS S3YNDId e 30VdS
S1Hvd 1TV IVIXY
NOILISOd Q3Av0T WOWININ

A-43



A-44

60

802

8022

60 RS

80 2RS

60 NR

60 ZNR

ONE SHIELD TWO SHIELDS ONE RED SEAL TWO RED SEALS SNAP RING SNAP RING
ONE SHIELD
Nominal Bearing Dimensions
d D B {3 M 5 H T
Bearing Number in. mm in. mnoim omm Millimeters
60 6000 Z 6000 2Z 6000 RS 6000 2RS 375 10 1031 26 312 8
6001 6001 2 6001 22 6001 RS 6001 2RS 5000 120 125 28 312 8
6002 60027 600227 602 RS 6002 2RS 6002 NR 6002 ZNR 625 15 1.250 A2 .37 9 30 365 3 2 1
6003 6003 Z 6003 2Z 6003 RS 6003 2RS 750 17 1856 35 500 10
6004 604 Z 6004 2Z 6004 RS 6004 2RS 875 200 L7500 42 500 2
605 6005 Z  60D3 2Z 6005 RS 6005 2RS 1.000 25 1.875 47 500 12
006 6006 Z 6006 2Z 6006 RS 6006 2RS 1.1875 30 2156 55 531 13
607 6007 Z 6007 2Z 6007 RS 6007 2RS 1.375 35 2.500 62 .562 14
6008 6008 Z 60D0B 2Z GOOB RS 6008 2RS 1.500 40 2688 68 594 15
6009 1750 45 3.000 75 625 16
6010 6010Z 601027 60IORS 6010 2RS G010 NR 6010 ZNR | 2,000 50 3.125 80 625 16 768 86 4 25 16
6017 60T 7 6011 27 6D1T RS 6011 2RS 601 NR 6011 ZNR | 2.250 55 3.562 90 718 18 86.8 965 5 3 2.4
6012 2375 60 3750 95 .78 18
6033 60132 6013 2Z 6013 NR 6013 ZNR | 2,500 65 4000 100 719 18 968 106 5 3 2.4
6014 2750 70 4375 110 781 20
6015 6M5 Z 6015 2Z 6015 NR 6015 ZNR | 3.000 75 4500 115 781 20 112 121 5 3 2.4
Note: When shield is required on same side as snap ring, order as ZNSR,
inch size dimensions shown are for inch size bearings.
Table 68 Radial ball bearings. (SKF Co. Ltd.)
’<—c —-| Fl—

l’— Ty

1

7 T

— T —]
D LP—H—-—roA-d S o

Bearing
Number

4059 590 15
03062 625 16
5062 625 16
1749 688117
9195 6957 17.6
9070 695 17:6
1774 748::::19
1949 750 20
9067 750 20
9078 750 20
7075 750 20
7087 857222
1380 8757022
1280 875122
4643 1000 25
1780 1.000 25

430 N
562 14
566 14
545 14
90620
90623
753520
610 16
835 21
906 23
591 15
531 14
7620520
875122
560 14
762 20

089
125
129

425
219
219
138

135
219
091

-156.
200
.188

.140
.781

344
A38
438

420
562
.688
625

A75
.688
562
375

375
562
688

420
625

v

781
844
938

1906
1:062
1:.062
1062

1.000
1.000
1.000

1.125
125
1125

1.219
1.188

719
781

781
969
1969
969

922
922
922
.938

1.062
1.094
1.094.

1.156
1172

1.094
1.312
1.562

1312
1.625
1.562
1.875

1.500
1.531
1.625
1.719

1.719
1:750
1.875

1719
1.844

1.250
1.469
1.688

1,438
1.750,
1.750
2:031

1.625
1.750
1.750
1.844

1.844
1.906
2.062

1.844
2.031

BRGSOy A D RTOV OV W N

METRIC (mm)

18
20
21

20
24
24
24

59
23
24

27
28
28

29
30

28
33
40

37,
41
39
48

38
39
39

48

48

32
37
43

36
44

51

Sl

47
48
52

47
52

Table 69 Tapered roller bearings. (SKF Co. Ltd.)



Standard Parts and Technical Data

500 12 12 3 80 20 110 25 125 30
18 5
12 3

625 16 s : 125 30 | 150 40 | 175 46
12 3

750 20 I ; 130 34 | 160 40 | 200 30
12 3

875 ! o : 130 34 | 160 40 | 200 50
12 3

1000 25 18 5 160 40 | 200 50 | 225 60
25 6

Table 70 Thrust plain bearings.

51100 3937 10 402 102 9449 24 354

D 9 012 750 563
51101 4724 12 480 122 1.0236 26 354 9 012 844 .656
51102 5906 15 598 152 11024 28 354 9 012 938 750
51103 6693 17 677072 11811 30354 9 012 1.031 844
51104 787420 795202 1.3780 35394 10 012 1.188 969
51105 984325 992 252 1653542 433 11 024 1.438 1.219
51106 1.1811 30 1.189 30.2 1.8504 47 433 11 024 1.563 1.469
51107X 13780 35 1386 352 20472 52 472 12 024 1.813 1.656
51108 15748 40 1583 402 23622 60 512 13 024 2063 1.875
51109 17717 .45 1,780 - 452 2:5591 65551114 024 :2.281 2.063
51110 12968550 1:.976.°50.2 " 27559 70: 551 14 0242500 2.250

51111 2.1654 552173 552 3.0709 .78 63016 024 2.750 2.500
51112 23622 60 2370 602 33465 85 669 17 039 3.000 2.719
51113 25591 65 2567 652 3.5433 90 709 18 039  3.188 2.875
51114 27559 70 2764 702 37402 95 709 18 039 3.375 3.063
51115 29528 7572961 75.2°:3.9370 10074819 039 3,625 3.250
51116 3.1496. 80 3.157..80.2:-4.1339: 1105 .. 748 19 039 3813 3.438
51117 3.3465 853354852 43307 1107 748 19 0394000 3.625

*The maximum fillet on the shaft or in the housing, which will be cleared by the bearing corner.

Table 74 Thrust roller bearings. (SKF Co. Ltd,)

A-45



